MET 330  Chapter 4 HW

49 |F= 1900l d=25:n Fni P
(A
A= {zfs = 4.9] in*
P = 1%000/4.9] = 36b7 Ps;

0% |No = 0.9V Fuy=35%ks=24750Mfa_ Find AP AV/v = -0l
0,00+ 3590 = -AP= -35.9  AP=135.9 ks:

-0.0] - 249758 2 FAR= 2405 AP =047:5 MPa

b3 |d=05in L= 420 E =199 ksi Find stfeness (l6/in)
A= 025 =019 in" V, = 0.1%- 42 = $.25 in?

Vi = 0.0%- 41 = $.05 in> AWV = {$.05-%.25)/%.25 = ~0,0133
AP = 199--0.023% = 4.5 AP=4500 p5; F= 4Sc0-0.19 = $93.4 Ib
H¥fness = $93.6 1b/in

76 |W= 41 lbf Find wass (Ss & ka) and weimht (W)
m= 1/32.]7 = 0.03) Slugs W= 1-4.44% = 4449 N
m= 449%/9.4] = 0.453 k9 '

T2 3= 150mm Wem = 225 N Ws,= 354 N |=200mm Find 59
A=m 0,075 = 0.0177m" V=0.9177- 0.2 = 0.00353 m’
W=354-225=3315 N_Y=133)5/0.00353 = 9.3% kn/m’
59 = 9.3%/9.9] = 0.955

107 159 = 079 Find 2 ("3 ¢+ Yiem?)

LP=194:079 = |.53 Sa/gys

u ot

2=1079 = 6,79 Ven®
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Blecs Plasma, inK, pustord, and thaqﬁe afe )] nen- Newdonion

1.

Vistosity of weder ot 40°C is 0.b4 mPa

27,

Viscosity of }\gsdro?ea at 40°¢ is 12.4 ubPo

k<

Viscasity of  SAE 30 oi) at 20°F i5 0.00025 "“Fpr

d=lb mm S% = 0.94 XT— 7] Myma L’;: 150 mpm 1{': 10.4 5

Bind wiscesite, Y= 0.9 %9) = 122 Wmd  V=0.5/p04 = 6.029"%

¥

W=Ft R w=Ynd> Fo=Y-A4% F=3#47v.)

Yemrad = Yeommdd p 3 Meved —> M= (¥ %)

b b 19-v

N = 00016 (77-9.22) /1%- 9.024 = 0.402 Py’

N




